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  - ����	
��
	����
�����������������������	�����-226 "���� #�$%�&�"�����'(�#�$
������������� ����
��)���� ����
� 98 ��
����� �,
��#�$���,�
����	����
���-��$�)&�#�$).� /��
���,������	��
���-��$��$��#�$).� �#����, 1457 /�� 1082 mBq/kg ��������, )�
�"����,�#.�����(�/��
���,����������
��"��9�
�������#����, 1253 /�� 1220 mBq/kg ��������, �,
��
������������
�����������	�����-226 ����	�	����;���-��$�#�$
#�(�������������� 
 
  - ����	
��
	����
�����������������������	�����-226 "���� 13 <��� #�$%�&�"�
������������� ����
��)���� �,
������=���
��

����9��9�)&�#�$).� /�� >�$
?@���
��
��

����9��9�
�$��#�$).� �#����, 7882 /�� 26 mBq/kg ��������, ��'$�����	A�

��)�����B������	�	����%	���A
	��)��	�������,%	���A/
��C���#�$����&�"���� ��

��)�����B���� ;�����#�$��
��

����9��9����
�	������$������%	���A/
��C�����&��9�� D�9/�� /���
� ����'� >�$
?@���
 )�
�"����#�$��
��

��
��9��9�����	�����)&��,
����%	���A/
��C����%E�)�
�%	���,)&� D�9/�� �	�>�� ��(���F� ����=� 
����
���.9� ���;�� ��������
 /�����,.9� ���
9� "��9�
 /��>�$
��)� #�$��%	���A/
��C����9��     
(8 /�� 59 mg "� 100 g, ��	�� 4.2) /�������	
��
	�����,
����
���������������������� 
�	�����-226 )&���� �����'$����������KA���	����%�&�������)��<�����(#��"�9����	�&�C=�
%	���A�	�����D�9��� �����(� %	���A/
��C���#�$����&��=�D���������
��

����9��9����%	���A	��)�   
�	�����-226 
 
  - ��'$�����	A���	�	�������
��

����9��9�����	�����-226 "��'(�#�$������     
������� ����
��)���� 
������	�	����#�$
#�(������� /������
���-��$�)&��	�,	��
A"��9�)9�#�����
�(�� /��
��� �=�����%E�D%D�9
���	������������������'(�#�$)&�"��#'��������/�	��� ;���-���
,	��
A#�$����	�,	����'$��#��#�L"�9������,�#.�����(�/�����,�
����	�� #�$�,
������	%��%MN��
����	�����)&� C=$��	����
	�,
�.��'(�#�$#�(�����������#��	�,,�(��B		�<���#�(��(����
��� /���(��
"�9��� 
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  - ����9��&���	�	����
��

����9��9�����	�����-226 "����/����<��� �,
��

�����������������������	�����-226 ����
������	'��9�� �=(���&���, <��������
�������� ���KA�
�&��%	��#L����'(�#�$#�$#����	��F,��
����� %	���A/
��C���#�$��"���� ��������(����,
�����#.�
<�����B��.;�/#)�C��� (K-40) �%E�)�
�%	���,��&�"�%	���A#�$)&���� C=$�B��.��(�%E���
�%	���,
����"������'�,#.�<��� /��B��.<�����(D���%E�����	�������'$��#��,��,�	����� (Ra-226) /�9��
����%E�B��.�������	��)�#�$�,"�B		�<����<����� 
 
  - ��'$�%	�����%	���A	��)�%	�)�#B���#�$%	�<�<�<�
���������������D�9	�,���
%R ��
�� 21 µSv /���,
��%	�<�<�<�
���,�
����	����D�9	�,%	���A	��)�%	�)�#B���)&��
��
%	�<�<�"����,��'$� �#����, 25 µSv ���%R ;��%	�<�<�#�$,	�;�
���;����D�9	�,%	���A	��)�
%	�)�#B����-��$����%R)&�>=� 50 µSv C=$�)&��
����	,	�;�
���<����'$� /����

���)�$��)&������	
D�9	�,%	���A	��)��	�����-226 �����	,	�;�
 C=$���	,	�;�
>�$
?@���
/��/���
��,
����&�"�
��AV�%���������

���)�$��#�$��D�9	�,%	���A	��)��	�����-226 �����	,	�;�
 
 
  - ��'$�%	�����
��

���)�$��#��	��)������	,	�;�
��� (Radiation Risk Factor; 
RRF) �,
����	,	�;�
����=� (4.13) ����
���.9� (5.25) ���;�� (6.25) ��������
 (2.50) 
��9� 
(3.13) ��(���F� (3.38)   ����'� (2.00) �	�>�� (2.63) ���,.9� (2.13) �9�
 (3.13) /�� >�$
��)� (3.50) ��


���)�$��#��	��)������
����AV�%��� /��"�/���
� (0.5) /�� >�$
?@���
 (0.63) ��

���)�$����&�"�
��AV�%���  
 
���������
 

 
1) "����
������(#����	�	
�
���-���%	���A�	�����-226 ��������������
  ��������	��)��'$��9
� �=�



	����	L=�K���	D�9	�,	��)�������'$����$����� 
2) 

	����	L=�K��)9�#����	D������(��"�������������� 
������	�	�������%	���A	��)�

�	�����-226 �%E��<��D	 
3) 

	����	L=�K�%	���A�	�����-226 "�����	�'$� a �<�� ��'(�)��
� /����D�9 #�$%	�<�<�����

,	�;�
 
4) 

	����	L=�K�
��b�&���#�$#����	����%�&��������
��

��/	�	��)��	�����-226  


